SM3 Solving Logarithmic Equations 2019-202(
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Find the exact solution algel(éically, and check it by substituting into the original equation. Show work!
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Solve each equation. If necessary, obtain a numerical approximation for your solution by rounding to the
nearest ten thousandths. Check your solution by substituting into the original equation. Show work!
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21. The value of a Honda Civic DX that is t years old can be modeled by V(¢) =16,775 (0.905)’.
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According to the model, when will the car be worth $15,000? $8,000? 54, 000‘-’ Show work!
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